HI— 3.15 g

qE= ey

1. 9P U BT Afad | 3 9T B GHe 3ifhd © |

2. U39 U <1 @usl H fAuforg 8— ¢ o1 9 ‘9| ‘3 H 23 U 2 9 22 § ysH ¥ o=aR®
fdpeu & 9 @vs ‘T ¥ A by g | Wemeft @vs ‘T & fHd Nt e ey &1 a7 &+
I GUS ® Yl 7 U Bl Tl B Fhd ¢ |

3. HUAT Wi o &% T-—v & A gt den yeel &) der |98 2 |

" — A
T 31UTd 7 & 2
=If @ 2 ?
T WEER & Y3 R Hod Ud ARG a9—8TH & FHRISH [ srurd # fdbar Sirar &7
IR TG WISIER &I G W IAD dID! WA & Y BT RAT fbar S & 2

5 el BH B geael d w=1fa 324,000 T T & STafds SHbT gdd oI 40,000 3T AT & | U
AERER 9 1/4 R g @fd &1 fha-r iy off sref 2

1

6 IRferd Goft @ 8 ? 1

7. S AT & i Ua |rdS e wrE fhae UER @ ofY fRifid R A 2 7 1

8.  ZRUUA & EH § MU FAT FHSW 7 ? 1

9 U AEIGR & 99 & =0 9 Yoll 50,000 & | a9 & o™i H &1 325,000 o TAT IAD FRT 3MERT
312,500 &1 fBar 7| a9 & YR H Yol S1d HIY ?

10 3BT YU PR dlel AEIER DI 3 AR & I oI Ggfadl Bl forRay |

1. RN JTHAIG @Al &7 8§ ?

12, ORIIBA A 26 BT AHSISY |

13, 39 @& A & & ey 7 7

14, ZROTF R 2 7 SO fARwan aarsy |

15.  WRERRI AoE & M@ # dF] 8F dTdl WRA ARKERI ARFTH 1932 # A T o IR wawe
qarsy | ? 4

16. '@ AR T 32 & U H AM—aI fIRTT ARA gY ARIER 21| S ‘R Bl o™i H 1,/10
qRT & forg gaer feam o =gaam 312,000 @1 TRUET €1 R | @' 3R TH qd B Hifd & Ar—gI
BT IS STRI RIT | BH BT S g9 BT A9 60,000 o | ABERI & Fed oM &I dear] fa@nsy |
If TRUST Badt ‘&' gRT &1 Il 2 | 4

17 ¥y IR Q&1 7 : 3 & AU H A BT dfcd Y ARIRR B 9 A B Y AERR & w7 H

Tae Id E, o aM B 1/5 R & fow 4000 MW Sl 2 AN IgUTd 5 : 3 : 2 B
RIS H yfafte STy | 4

1
1
1
1

>N oo

N N N N N DN
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18.

19

20.

21

22

R R & Fd H Siler yfafiedt BIfTg—
(1) agelt R =u T 2,500 BT |

(2) ggett wR =g % 3,000 RTGT YA ABER ‘@@S 7 fbar|

(3) a¥gell WX =g % 2,000 1A ARIGR ‘A’ @GN w9 & g8 fdar|

v ferfics = T 10 dTel 20,000 FHAT 3 10% Hekdl ((fwpee) R AEifHa f6y | maed w®

T 2, arde wR I 3 dO Y UG AfH IJradr W I 5 AT o | FBRER d18 Sl 1,000 M D
gRe o, 7 Il WR <P RN T8 gDbls 3R ITb AW B §RT Sl bR U Q| ekl

Jmeed WR far S o | ufaftedt fearsy | 4
e & BT A RIT 3T 8 2 3 BT BT b T ST © 72 4
f=ferRad &1 SHo gfafeedt wifsto— 4

(@) o= &1 T 95 W) A, T 100 R e |
(b) Fevras &1 T 95 W A, T 105 TR ARFN |
(c) Forax &1 T 100 R 7, T 105 R e |

(d) Foas &1 T 105 R A, T 100 WR AN |

e — YAP RUYF BT TS 100 T |

QTSR W 2:3:5 D U H a4 AR BN BT dfcd U ARIGR & | 31 A€, 2012 B
I@T ffaRaa anfefe fagar ar —

Liabilities Amount Assets Amount
Rs. Rs.
Uoll @ (Capital Accounts) &g (Cash) 18,000
A 36,000 g fau= (Bills Receivable) 24,000
B 44,000 weeR (Furniture) 28,000
C 52,000 1,32,000 | v=faam (Stock) 44,000
JeR (Creditors) 64,000 | T9<R (Debtors) 42,000
<7 fau= (Bills Payable) 32,000 | faf=rT (Investment) 32,000
ATI—BIM @l 14,000 | 7T (Machinery) 34,000
(Profit and Loss Accounts) i (Goodwill) 20,000
2,42,000 12,42,000

o Ny TS O Rreafafas oAt o e A A @ e
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23.

(@) ®weraR fafanT iR AT @7 15% 9 gIRIa far S |

(b) ¥fw &1 qeaidT 48,000 < T |

(c) 3rexT fa=mar 1,800 T & |

(d) gde< aa+ 800 X 2|
) D v @& wd™ & o™i @& 1/6 &R & forg 32,000 I YSH &R 60,000 I =T Adha

RISI

() AEERl &1 Yo @rar S9e v e U H D @1 ISl Bl YR HIMd 8¢ BT |
ARIERI &1 Yol & FHARISH Tdha & gRT fhar SIg |

q I ST, WIEERI & Yol I, Adbs TN qAT 78 BH BT e Icer a9y |

AIdT

3, FAR F HAM: 3 : 2 : 1 & U H ™ 3R BN BT I A U ABIRERT ATA

HT AT R I8 A | 31 A1d, 2012 BT BH &I e forear ffoRaa ar—

Liabilities Amount Assets Amount
Rs. Rs.
oFeR (Creditors) 13,590 &g (Cash) 4,700
gsil @rd (Capital Accounts) TR (Debtors) 8,000
A 15,000 gfrar (Stock) 11,690
B 10,000 ¥a- (Buildings) 23,000
C 10,000 35,000 9% (Land) 1,01,200
STE BT 0T 1,00,000
(Long-term Loan)

1,48,590 1,48,590
¥ Iudad fafY &1 ffaRad @t W sEdEe of Jdr 8-

(i) w1 % X 7,000 9 AMglg HA 21 (i) ITARI R 5% Wi 0l & oIy Uraen &R © |
(iii) w9 @1 wfa T 18,000 JeAifhd @1 T3 © IR WA @il @iel 94T €1 96T dre] @l 4

AT HRAT 2 |

(iv) 9 &I g3 T 3000 AT & 3R W Uil WA & AY Pl b K0T WAl H SRR B a1
2 | YTl ], |41 FISIaRl & Yol W, Adbs Wl 3R § & 3fahrel T80 &R & a6 BH
BT MR foreer a8y | 6

U BT = I 100 dTel 50,000 AHAT 39T Siar # A By | afen wr fdr 9 yoR <7 -
(@) wrefA—u3 W T 30 (@) ded R I 50 R 10 W\ afeq), (1) wed v <ifvaq At wR T 30 |
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1,20,000 32l & foIg 3fIET—Ua UTEl 8U| 20,000 AT & WAT B DIg
JAD! AR dAler &1 7T | =AY grfefdf b1 Jerrgurd g fdbar 7ar | I
de T r o, gem e sifvaw | & AR T gars | o At sfemniar |
feam| M & afer S R ford T SR T 80 URT o & BE@ W wM Bl Yol yed
IR 3 T | SWT FIERT B HHAl DI GXABT H il ufaftedt g |

AT — 49

Wemeff @ve — ‘T @ $H e by &1 799 o) SS9 @vs & Il 7 Ul Bl & X 95 ¢ |

RIbs gl I FIT AR & 2 1
b Yarg fAaRor 1 SR e &rdl & ? 1
TS AU 2 . 5 : 1 2| =Tef, uRFARAl ¥ 50,000 AR =1e] qRI T 20,000 & | UM 2 : 1 M B
forg are uRewafrl @ Mg w9 9§ fha & aF =iy ? 2
s Jdrg fAaRT & T | oGl AFH—3 W YH1I STfofy | 2
FrfeRad a9 Wheel 3Mad U I O DTG — 4
UR™E IBfar (Opening Stock) < 18,000
Aoyl (wages) < 14,000
sifew <efaar (Closing Stock) 3 22,000
fasma (Sales) < 80,000
a<aRR& gars (Carriage inward) 3 4,000
% (Purchase) < 46,000
T O w_ier fafr grT fAafvareE et 9 Jdhs ydre Idigu— 4
7 R) fawa )

e (Plant) 3,10,000  10,00,000

faf=rT (Investment) 1,20,000 40,000

i (Goodwill) 50,000 -

Y (Patent) e 75,000

(i) TR R = & 9Tt g9 < 4,000

(i) oAt R T 7,500 AT FHRT |

(iii) 372l 9= AT YT Z3M < 10,000

iv) |EAT 3N R AT &7 T fbar 12,500

7 T a9 AAMaR [RIger a18d — 6
2012 2013
Rs. Rs.
i A (Fixed Assets) 12,00,000 14,40,000

faf=arT (Investment) 2,00,000 2,00,000
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e IRl (Current Assets)
|HT 3 Yol @ 10 ufey afer

(Equity share Capital of Rs. 10 each)
7 % q@ifreR 3fer @ 100 ufr afer

6,00,000

8,00,000

(7% Preference Share Capital of Rs. 100 each) 2,00,000

daa g fera (Reserve and Surplus)
grierd v (Secured Loans)

3rgrRierT v (Unsecured Loans)

=1e] a1id (Current Liabilities)

uraer (Provisions)

3rerdT
foxia =T faweryor &) ufshar &1 9ol P |

Al (WRT—79)

CAS &I q=1 =9 forRag |

AFAR eRgi Ugia &I &1 faRivang «r g ?

A 9 HFYCRIgse odidd Ugid # & 3 garsy |
Data Base @ IR fa9iyand adrgd |

Data Base d Relational Data Base # gl 3=} d1sd |

i
(i) SN & IR HrA faRau |

(i) Vs M & HHT TR A RT AW & 2
i
(

i) vaad ® urgare 99 & fafi= @Ror folRaw |
iii) BT TAT B # R IR |

arerar
Jredfic 9 1 3™ € ? S9a A= ofefor gy |

i) & <fddt “Student ” & o & A= =RoT forRay |

2,00,000
4,00,000
2,00,000
1,60,000

40,000

2,20,000
2,40,000
3,60,000
2,40,000
1,76,000

44,000

2+2=4

2+2+2=6
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